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Question Number : 1 Question Id : 5244763701 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If paisa: Rupee::? : Kilometer

paisa: Rupee: @00é:? : Kilometer

Options :
1.

2

Meter
FAVALS,

Hectometer
s 5
3°S 0

Quuntal
8 c0er®

Decameter

EEERANALS,



Question Number : 2 Question Id : 5244763702 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Select the option that 1s related to the third term m the same way as the second term 1s
related to the first term. Singapore: SIMBEX:: France :?

S0 55 DODOHOD) TOBID T PO TS D8
H020Q0NDD DONED DOTNE0A. Singapore: SIMBEX:: France :?

Options :
1. VARUNA

2. INDRA

2.% 7

3. KONKAN

3. %

4. SLINEX
4. %

Question Number : 3 Question Id : 5244763703 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

RAP, MAP. HOT. FUN, ?

Options :
1. HNE

1. ®



L x 2 PGl
. % 3. SIN

4. CAT
4. ¢

Question Number : 4 Question Id : 5244763704 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

ZBAY. JRQL OMLN, YCBX?

Options :
- 1. DXWC

2. XCBY

2. %

. % 3. VDEW

4. FUVE

4,

Question Number : 5 Question Id : 5244763705 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A man goes 5 km East, then he turns right and goes 4 k. then he turns left and goes
5 km. Which direction 1s he facing now?

2,8 5558 53750 )50 5 8.2 SFCR. €965 ZoB35)E0 381 4 8.2 IF°CW,
BT 265 0T NZ0 BOA 5 8.0 L. €965 QI &) OFS” o) 2

Options :
1. North
&30

2. South

3. East

VOV

3.9
4. West

px O

Question Number : 6 Question Id : 5244763706 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



If South — East becomes North. North-East becomes West and so on. What will west
become?

eD - 300 CFEOBOMT 083, TS0 DB YO ATV 0. HDZJENO oD
€95)E0EN?
Options :

1. North — East
&S — A3

2. North — West
NP - [ o B (e INVe!

3. South — East

A8 g9 — 57D
3. ¢ -
4. South — West
L% D - S

Question Number : 7 Question Id : 5244763707 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

7.10.8.11.9.12 ................ What number should come next?
7,10,8,11,9.12 ................ 507865 o) QOWS T°°E)?

Options :



Question Number : 8 Question Id : 5244763708 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

4832, 5840, 6848, 7856, ?
Options :

1. 7910

2. 7915

Question Number : 9 Question Id : 5244763709 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



P and Q are brothers. R and S are sisters. the son of P is brother of S. Q 1s related to R as

P s08050 Q BN, R 0BG S B s0gnen. P ABng) S0 S
OB0E), PSS, Q. R & eOeSCH?
Options :
1. Father
eHO(C

2. Son

. SO

3. Brother

QB

4. Uncle
ST

4. v

Question Number : 10 Question Id : 5244763710 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The girl introduced a boy as the son of the daughter of the father of her uncle. The boy is
related to the girls as

295377200 2,8 €923°)O00) €560 33T 50 Bt §CHBIMT HBLIAO
DO0A. €8 927N 9357200 & eDONETCR?

Options :



1. Uncle

Lx oD
2. Nephew
0N
2. % ™
3. Son
3 % YRV N
4. Brother
0D
4. &

Question Number : 11 Question Id : 5244763711 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Today is Monday after 61 days, it will be
523 o B0 083, 61 Be2e> S0 5eb 0

Options :
1. Wednesday
2200700

2. Saturday
FQ* OO0

2.¢



3. Tuesday

s x SVelal>Fvilele;
4. Thursday
Lx DAOIO0

Question Number : 12 Question Id : 5244763712 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most similar meaning to “overturned”

"D @R DTS T3 RPN TR DOTNT0B
Options :
1. Slipped
T~ OINEOWSIN

2. Rotated
B3NGB0

Inverted
Lx O

fad

4. Toppled

Ly DTIHROS



Question Number : 13 Question Id : 5244763713 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following diagrams indicates the best relation between Travelers. Train
and Bus?

808 57¢365 &) DHDHO (DASTESZOEN, BN OGN 2361 50§ B
QOO AIFTIRNOE?

Options :

i 1 OOO

O O

LS ]

QD

3. ¢

.
4. %



Question Number : 14 Question Id : 5244763714 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Every citizen of USA has a fundamental to education.
USA S [0 FGE D580 (B0 &00.
Options :
1. Write
. REONVERNE
2. Rite
Zinyele
2. %
3. Wright
s 8O
4. Right
W 80

Question Number : 15 Question Id : 5244763715 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Some famous writers school because of poverty.
T 0500 (DD BI0NEHEN ABE0 SHLIOMT BB DO

Options :



1. Quit
- QoA oD0TD
2. Fire

SOR0IDTFTD

3. Sack
g 00T

4. Disiniss

B2 TOHDTE

Question Number : 16 Question Id : 5244763716 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Consider the statement which 1s followed by two agreements (I) and (II)
Statement: India should have a very strong and powerful Lokpal.

Arguments: (I) Yes. it will go a long in eliminating corruption in bureaucracy.
(II) No. it will discourage Honest Officer from making quick decisions.

DO 250737 (I) $DOO (II) €9eDNOO0T [DEEIND DBES050S
(DBEIS: 2TBBSTFIE T 2O 0B FEI0HRS S Tard o).
F55e3: (I) @969, 22758 15 @9 AETFIO0IGHOS AE Tre> 50
2D DCEDOA.
(ID S, 2O D2oned (56> 9B ¢ 55 dFairen ooz
QBT TDDDOE.

Options :

1. Only argument (I) 1s strong
35S (I) 30768530 20T E50A

1.v

2. Only argument (II) 1s strong

¢3S (1) 3575030 22O 508

3. Both the Arguments are strong
DO °CEN DO Csro®) O



4. Neither of the Arguments 1s strong
PR o) OO B

Question Number : 17 Question Id : 5244763717 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a certain code. ‘PAPER’ 1s written as ‘SCTGW?’. How is *‘MOTHER’ written in that
code?
DOA &GS, ‘PAPER'D) ‘SCTGW’ €9 | . €8 §56S’ ‘“MOTHER' @0 e

oo 0?
Options :

1. POXIJT
1. &
, 2. ORVLGW
3@ 3. PQXKIV

4. PQVIGT
4, ®

Question Number : 18 Question Id : 5244763718 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



There are 3 friends Rite, Shalu and Aman. The age of Rite is 2/5th of the age of Shalu
while Aman is 12 years older than Rite. The ratio of age of Shalu to Aman is 5:3. Find
the age of Rite afier 4 years.

BED, are sDOCIN €961 €9 AMDBD ) 23780 ™) . BED AN
ST SHODKIES’ 2/563 H0ed) LIONS 90N, BE 0T 12 DO YT*eN
DD, TN SOOI €96N® SANKN) DI 5:3. 4 DO YT B0™ £eh
BE 30D B0,

Options :
1. 32 years
} 32 Q06IEH TN
1.
2. 28 years
28 Q06e3eH TN
2.
3. 30 years
- 30 Q0SS YT"EN
4. 25 years
) 25 D0EH YT

Question Number : 19 Question Id : 5244763719 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



TKDL stands for

TKDL 90T
Options :

1. Traditional knack digital library
POINTTOD B0 B2 B8

1. %
2. Traditional knowledge digital library
P00 2FH0 G2ed B0
2.
3. Traditional knowledge desktop library
POLDTON S BTOLETD B0
3. %
4. Translational knowledge digital library
29057 B0 GB2eYS B
4. %

Question Number : 20 Question Id : 5244763720 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following services can help students to access computer files from remote
locations through mobile phone?

203D 'S °50° OFTE 8NN DO 05D DO OS8R
DONTTIE OB &2 (B0E IS DE D500 0E?

Options :

1. Face book
D205

2. Renren

O™

2. ¢

3. Soonr
it E
3 % SV

4. Twitter
3585

Question Number : 21 Question Id : 5244763721 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



All are similar in nature except one which 1s different pick out the odd one. Mango.
guava, potato, pieapple.

Q) 2.8 DA 527650 O &0eTrom, RO S DIE
DOTNTOG: SINB, 23°%, DOTHCN0D, 0O,
Options :
1. Guava
L& 2D

2. Potato
2OTHCNOD

3. Pineapple

OO
3. %
4. Mango
0% 0
4.%

Question Number : 22 Question Id : 5244763722 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



A man spends 75% of 1s income. His income 1s increased by 20% and he increased his
expenditure by 10%. he savings are increased by
2.5 3558 e373°0H0ES 75% ) DUCR. €965 373000 20% DOAOE SHOTM
€965 €62 HA AN 10% 2OTITCR, €95 &PCNY) )OEd 250 DOAOE?
Options :
1. 10%

w2 25%

37.5%

fsd

L 4. 50%

Question Number : 23 Question Id : 5244763723 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A tram who 1s lenth is 320 mitr is running at speed of 36 kmph. How much time will it take
to pass a pole.

320 D CHY) E5ed) BeW 36 8l BHOS SCN0A. Q02T TEITRE
00D DaDONO DCNEOA.

Options :
1. 30sec

1. ®



2. 32sec

2.

3. 36 sec
3, %
u 4. 40 sec

Question Number : 24 Question Id : 5244763724 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

My father wrote this book. It by my father
Options :
1. will be written
1. %
2. was written
2.
3. was write
3%
4. 1s written
4. %

Question Number : 25 Question Id : 5244763725 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

They will demolish entire block. (passive to active)



Options :

1. The entire block 1s being demolished.

1. %
. 2. The block may be demolished entirely.
2.
3. The entire block will have to be demolished.
3, %
4. The entire block will be demolished.
4. &

Question Number : 26 Question Id : 5244763726 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

She met him yesterday (Active to passive)
Options :

1. He met by her yesterday.

2. He was met by her yesterday.

-

3. He was being met by her vesterday
3.¢

4. He is met by her yesterday
4.%



Question Number : 27 Question Id : 5244763727 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

I an appointment with the dentist soon.
Options :
1. have made
1. %
5, 7 -
2. will make
2.
3% O made

, » 4 make

Question Number : 28 Question Id : 5244763728 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A man covers 60 km in 4 hours. Find the speed.
S0 4 506 60 8. 2. TR SHH0D), 2965 I TS0,

Options :
1. 20 kmph

1. ®

2. 15 kmph
2.¢



3. 5 kmph

3. %

4. 25 kmph

4, %

Question Number : 29 Question Id : 5244763729 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A man covers 20 km in 2 > hours, Find the distance covered in 9 hours.
2,8 3558 20 8> 2 ¥ ﬁ-::mif‘j 9ONDOTICN. 9 rﬁ(jec}@ﬁ (LOSTESOTI
Arom) S 0A&.
Options :
1. 60 kms

-2

. 82 kms

. 72 kms

Trd

4. 70 kms

Question Number : 30 Question Id : 5244763730 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



An amount doubles itself in 15 years. what is the rate of interest?

2,8 BOBO 15 D055 YT’ BEI0) 969000, 96 BDED DOES?

Options :
Cx L 7.85%

% 2. 941%

3. 6.66%
3.¢

x4 421%

Question Number : 31 Question Id : 5244763731 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a class. 3/4 of the students do not know either English or Hindi. but 1/6th of the
Students know English. How many students know both English and Hindi. if students
who know Hindi are 1/8th of the total students in the class?

2,8 SSHBES’, 3/4 0 DT sDOH 0N B 80 OGN, T 1/68
5088 DT OB 0NN BENXY. o70A BOVS DTN HSHedS D
S0B0 DT OO’ 1/859 5068 SO D0HNOA % 0NN

SOOI IO DOET SeND?
Options :

1.1/24
1. ¢



2.100/24

.10/12

LD

.1/4

s

4.%

Question Number : 32 Question Id : 5244763732 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How much tume will it take for an amount of Rs.900 to yield Rs.81 as interest at 4.5%
per annum of simple interest?

TG ST DTEE 4.5% HDE 55°.900 S E5°.81 TOOITRE Does
Qo ONO CDEAOE?

Options :

v 1. 2 years

, x 2.3 Yyears

3. 1 year

. 4. 4 vyears
4.



Question Number : 33 Question Id : 5244763733 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Find the missing number in the following series. 15, 18, 24. 7. 45
= : & S e :
80A DBV’ IO DO EFI0AB. 15, 18,24, 2, 45

Options :

1.9
w12

!\.J
sl
=

3
fad
)

3.4 2

Question Number : 34 Question Id : 5244763734 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the odd pair of words
B 2365 DT EFS0B
Options :

1. Mason: Wall
D s



2. Cobbler: Shoe
)Y BoBCR: A

3. Farmer: Crop
Bedd: HOE

4. Chef: Cook
Do 508

4. ¢

Question Number : 35 Question Id : 5244763735 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

As boxing 1s to ‘Ring’. ‘Tennis’ 1s to
280N @O0 ‘G0N . “BI)V @OTY
Options :
1. Pool
RS

2. Court

o S

3. Arena
Yo



4. Ground
(["o&

Question Number : 36 Question Id : 5244763736 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Receptionist: Office: :Hostess:

Options :

1. Crew
1.9

2. Host

3. Airport

3. %

4. Aircraft

Question Number : 37 Question Id : 5244763737 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

RQS. BAC, NMO., KI.M, YXZ.

Options :
| x LROE



L
L 3 YXZ
,« 4NMO

Question Number : 38 Question Id : 5244763738 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

If Roeta 1s more beautiful than Roopa but not as beautiful as Anita. Which of the
following statement is not correct?

&3 A 0T @900 GOE 5°Q e9ed e90eh 900 B3¢, 80A °¢36S
DB DBHE C?

Options :

1. The most beautiful girl among them is Roopa.

O 9655065 90T 96557200 &7

1.¢

2. Anita 1s more beautiful than Roopa.
&) 80T @9eH T 00T GO,



3. Anita 1s the most beautiful girl.
29c)€H TI"CT 90CITA €96IT"0N.

4. All of these
Q).

Question Number : 39 Question Id : 5244763739 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Emotion is found in sentiment
20306 ISTAD N0

Options :
1. Never

1 D5 €38 52
2. Always

PR SION &Y,

3. Sometimnes

SN ey

3. %



4. Rarely
eSO

Question Number : 40 Question Id : 5244763740 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Find the odd number pair
2320 DOWE 2365 0B

Options :
1.2:8

1o
I'__;J
12
=

d
e
d
-2

Question Number : 41 Question Id : 5244763741 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

It since yesterday

Options :

1. 1S snowing
1. ®



2. has been snowing
2.

3. have been snowing
3. %

4. was snowing
4.%

Question Number : 42 Question Id : 5244763742 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

This problem by your brother yesterday.

Options :

1. was solved
1. ¢

, x 2.1ssolved

3. will be solved
3 %

r 4. solves

Question Number : 43 Question Id : 5244763743 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



That was a lovely evening. Lovely is a/ an

Options :

1. Noun
1. ®

2. Adjective

2. ¢

3. Adverb
3. %
, 4. Pronoun

Question Number : 44 Question Id : 5244763744 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

My father works in a factory. Factory is a/an
Options :
1. Pronoun

2. Noun
2.%

3. Adjective
3%



4. Adverb

Question Number : 45 Question Id : 5244763745 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Olympic Games place every four years.

Options :
1. have taken

2. are taking
2. % =

3. take
3.«

4. took

4. %

Question Number : 46 Question Id : 5244763746 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The river Thames through London.

Options :

1. 1s flowing
] ® =

2. flows
o



, % 3. has flowed

4. has been flowing
4. %

Question Number : 47 Question Id : 5244763747 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

We walking to our home now.
Options :

| x LIS

I~

. dinl

.

3 J. dIc

4 % 4owere

Question Number : 48 Question Id : 5244763748 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Raju playing football.

Options :

1. will
], %



, x 2. can

3. are

4.1

Question Number : 49 Question Id : 5244763749 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

To keep one’s temper
2,80 A3V, GFOITTE
Options :

1. to become hungry

s8OS

2. to be in good mood
000 &S Gowd

. to be a loof them
S*O8 DM o)

L



4. none of these

eI’ DA B

Question Number : S0 Question Id : 5244763750 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

He broke down when he heard the news of his son’s death.
505 5003570 0BT DA DeNSFAITER.

Options :

1. Ceased to smile
- DAY § AoV

-2

. Stopped working
sk O DONGO SANFAN0E

f4d

. Wept bitterly
Lo 38) 38y Q)

4. Resigned his job
L xS GO TSy BB

Question Number : 51 Question Id : 5244763751 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

I got your parcel Tuesday.




Options :

| & L. smce
, » 2. for

; % -0

4 v 4.0on

Question Number : 52 Question Id : 5244763752 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

He is proud his riches.

Options :
1. by

1. = .

I~

.of

(42
=
-

Question Number : 53 Question Id : 5244763753 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Ram was / senior to / Sam in College.
Options :

- 1. Raw was

- 2. Sam in College

3. Senior to

4. No ermror
4.«

Question Number : 54 Question Id : 5244763754 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Supposing if / it rains/ what shall / we do?
Options :
L. Supposing if

2. it rains

3. what shall

4. No errors
4. %



Question Number : 55 Question Id : 5244763755 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

It was him / who came / running / into the class room.
Options :
1. It was him

I~

. who came

(]

_ Tunning
3 % :

4 » 4 Noerror

Question Number : 56 Question Id : 5244763756 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Write the Antonym of underlined word her character 1s verv mild.

Options :
|« 1. Rude
, » 2. Bad
- 3. Gentle
4. Angry



Question Number : 57 Question Id : 5244763757 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Write the Antonyms of underlined word. His brother was a brave soldier.
Options :
. = 1. Noble

, % 2 Clever
; » 3. Coward

, » 4 Courageous

Question Number : 58 Question Id : 5244763758 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the correct Synonym of the given word: Rectify
Options :
1. To build

1. ®

2. Correct
2.

3. Destroy
3. %



L % 4. To command

Question Number : 59 Question Id : 5244763759 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the Synonym of Join.

Options :

.« L. Release

- 2. Attach

. Disconnect

Lrd

, » 4 Detach

Question Number : 60 Question Id : 5244763760 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the Synonym of Ancient.

Options :
1. Modem

, » 2.0ld



; & 3. New

4 Recent
4, %

Question Number : 61 Question Id : 5244763761 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0
Which institution recently released compendium of Ayush practices to manage COVID-
19?
@ = o L Ty o s
COVID-19Q) DB 55TF0ITTRIE o) DO® QeI e3OINN L2ZFEATe HDOEOT'R)
DENAE TOOE?
Options :
1. AIIMS

1. ®

I~

. Ministry of Ayush

Lad

. NITT Aayog
3.¢

. % 4. WHO

Question Number : 62 Question Id : 5244763762 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which is the following is a famous handicraft of Andhra Pradesh?
806 57¢36S SOIANTBE R (VD TVES DE?
Options :

1. Apatani
NP S TA LN

2. Kalamkari

- 056

3. Kunbi
3002)

4. Bendham
Lx B0

Question Number : 63 Question Id : 5244763763 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The headquarter of *World Bank’ 1s located
'HES 2508 (DT STT°EONO &S &0d

Options :

1. Geneva. Switzerland
| B, DIOT 05



2. Washington D.C.. USA
, v 0000 D.C..USA

3. Berlin, Germany

Lx 230Q, 238

4. Brussels. Belgium

1290)O), BDOHO

Question Number : 64 Question Id : 5244763764 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

World’s second largest continent is
10502506 BOCHS 2983238 OO
Options :
1. Asia
L% S0

2. Affica
) @ Y| DS

3. Antartica
;% ©0Er8)e3s



4. Australia
L SROST

Question Number : 65 Question Id : 5244763765 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is the last viceroy of India?
2rB5T33°VE IO B APOD )eIN?
Options :
1. Richard Welkslay
Lk ODRIS,

2. Warren Hastings

DB 20N
2. Q (4] ¢!
3. Lord Mountbatten
. €0 508 2D
3. o

4. Loard Northrook
L SO 08>S

Question Number : 66 Question Id : 5244763766 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year Hindu Mahasabha was established?
20T S0IEIES @) D05B3YB0ES T DOTIDEBOE?

Options :
[ x 1.1910

, v 2.1915

L % 3.1916

L 41918

Question Number : 67 Question Id : 5244763767 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following institutions was not founded by Mahatma Gandhi?
806 ¢3S’ 0357 O TR0 DO DE?
Options :
1. Sabarmati Ashram

d20Be3 e81FoD0

1. %

2. Sevagram Ashram
(T8 €8(Fo00



3. Vishwa Bharati

D3 5 2 5ed
3. ¢
4. Phonix Ashram
} &8 ) &840
4.

Question Number : 68 Question Id : 5244763768 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is considered to be best soil for plant growth?

806 73S DA T0E) O DHHNSOE SN DT

DONEF0TIDCDEDOE?

Options :

1. Sand
1. W ‘af\/\l}§

2. Clay

g

2. % o

3. Loam

S

3.¢



4. Shit
DEE

Question Number : 69 Question Id : 5244763769 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is the Chief Crop of Deccan plateau?
808 e3¢5 952 & DBTS” (7% HDOE DE?
Options :
1. Wheat
e P

2. Groundnut
5 ® BN

3. Pluges
3 ® ?Jﬁtj

4. Cotton

DS

4. ¢

Question Number : 70 Question Id : 5244763770 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following rivers carries maximum quantity of water into the sea?

206 FE3ES’ &) I BONOTT NS08 HEZD SBNEISLOHOE?
Options :
1. Nile
RS

2. Amazon

s v 2T
3. Mississippi

3 % gjﬁ\j&?‘j&g}ﬁ
4. Thames

4. % 55)::]

Question Number : 71 Question Id : 5244763771 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which foreign country is closest to Andaman Islands?
2905535°0 DY@ B0 SHSTT €55) DDP DO O?
Options :
1. Srilanka
.- 30>0%



2. Indonosia

L x  QOBS 2O

3. Myanmar
1@ o000

4. Pakistan
&

Question Number : 72 Question Id : 5244763772 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Recent industrial development of India is due to

2350330 AB0EY REIHE) aTO|IFDE ©92)d D8 5230

Options :

1. Rationlization of raw materials
SNG DT BresOEGe

2. Availability of skilled manpower

Do)EAL0 BOR 337348 ex255¢d

3. Liberlization of government policies
Lo 1DE0Es 5 DT SEPESED



4. Increase i market demand

S0)E 3508 DS

4. %

Question Number : 73 Question Id : 5244763773 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ten — rupee note contains the signature of

DE EFEPON SENS HOSBBEO SOENOD

Options :
1. Finance Secretary. Government of India.
@308 52556587, 26 (2923065 50.

2. Chairman. Reserve Bank of India.

D020, 6230 § 27§05 &8 QOGBA.

2. %
3. Finance Minister. Government of India.
. &308 O3, 233eb (D2 SO
4. Govermor. Reserve Bank of India.
, 9035 6. 623D § 237508 &8 VOB
4.

Question Number : 74 Question Id : 5244763774 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response



Time : N.A Think Time : N.A Minimum Instruction Time : 0

Water pollution is mainly caused by
3 57050 DE3 9D | DGO E0HEROE
Options :

1. Decay of bodies of aquatic animals.
20058 230600590 0Tre § oo.

2. Industrial discharges

IO B8 DCOED

3. Excessive rain

@58 360

4. Growth of phytoplankton
T 0ES DB

4. v

Question Number : 75 Question Id : 5244763775 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The main greenhouse gas pollutant in the air 1s
-6 e, L4 A, o,
TS Q (DTS (ARSTR 700 e °HE0

Options :



4. Sulphur

4. %

Question Number : 76 Question Id : 5244763776 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What does deforestation cause?
2910 DBI?2ON TRE 5B E?
Options :

1. Soil erosion

1% 55@ gsﬂ‘é

2. Loss of bio diversity
255 BNS50 S Y3%0

3. Disturbance in the hydrological cycle
223502008 B0 g5o80



4. All of the above
SR,

4.

Question Number : 77 Question Id : 5244763777 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was ‘sustainable development” came into existence?
VS ©90590" DI BAESE 5D YOE?
Options :
1. 1987

1. ®

2. 1980
2.¢

L x 3.1978

Lw 41992

Question Number : 78 Question Id : 5244763778 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social. Economical and Ecological equity 1s the necessary condition for achieving

o238, @08 SDOAMN DTG D6dI%00eH €0 QOIS DO
HBVEd

Options :




1. Social development

L 08 @2)090

2. Economical development

2. % @’Q?a;}g@

-

3. Sustainable development

VG €92)a59)D
3.¢
4. Ecological development
} DTG €92)I) B
4.

Question Number : 79 Question Id : 5244763779 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indira Awaas Yojana was launched in the year.
QOAOT® 363 23 ATES (B0 DE0E.

Options :
L 11986

2. 1984

2. ®

v 3.1985



4. None of the above

o o) o)

Question Number : 80 Question Id : 5244763780 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Antyodaya AnnaYojana is connected with
290505 €935 T3 AS 9NNOTTOIDE OO

Options :

1. Public distribution system

. 19923° HONED 63569
1.

2. Mid day meal
") 2350

3. Special Nutrition porgam

(98358 FATIS S0

4. None of the above

Bio3a) 575



Question Number : 81 Question Id : 5244763781 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many fundamental rights are there in Indian constitution?
27365 02 0f0ES D) BIFANDE °E02e0 Eae) ON?
Options :
1. Six

- e

2. Seven

PPN [oc\

3. Eight
VA

4. Nine
ETAVYIA

Question Number : 82 Question Id : 5244763782 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can be enforced under Article 32 of the Indian constitution?
2365 T72330505° Q) esO8S 32 (55780 80 ¢3S DO @9seN
DODCBOE?

Options :



1. Constitutional Rights
023500 a3°502.00

2. Fundamental Rights

L LIPS a0
3. Statutory Rights
2562203065 378090
3. %

4. All the above
4. ® ?‘L}in):},

Question Number : 83 Question Id : 5244763783 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Panchayati Raj Institutions came info existence under the

HOTFODEIT=2E HODEN 2980 8o BB 8 HT3°)om
Options :
1. 42nd and 43rd Amendment Act

4245 DB 436 DdGED IO




2. 86th and 87th Amendment Act

i} 8600 c0OAN 8753 3B T
2.
3. 63rd and 64th Amendment Act
309 DB 646 DO O
3, %
4. 73rd and 74th Amendment Act
v 303 sBAIW 740 DedBED THIEO

Question Number : 84 Question Id : 5244763784 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is the first state in India to have the panchayati Raj system
B80& a7¢365 HOTTONE T8 8955903 EOR &) 23BeH30Y BHE3
0020 ) E?
Options :
1. Madhya Pradesh
SVal{Peinl]

2. Rajasthan
(OAATNRN

2. ¢



3. West Bengal

Lx B0 BOTO
4. Utter Pradesh
55 (D3

Question Number : 85 Question Id : 5244763785 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The clash of interests’1s known as
30500 NP 907N

Options :
1. Conflict
- QoMY

2. Competition

. SRS

3. Co-operation
3 % D5 B0



4. Co-ordination
Qo) SO0

Question Number : 86 Question Id : 5244763786 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Unit of Social Structure 1s

Ted0°228 DT®2E20 O3NEY AVTRE

Options :

1. Institution
1. ® éﬁ@

2. Association

N ATV BTN

2. %

3. Social Groups

tTPAT7228 QoA

3,
4. All the above
A E‘j&ﬁfb .

Question Number : 87 Question Id : 5244763787 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The foremost skill required for learning a language 1s

2,8 270 B )T TR 985G €9R)) €35 SNOCNN) DoYES0

Options :
1. Writing skill
(69°€5 Do)€SO

2. Reading skill

- DA To)EISO
3. Speaking skill
T T3 B)EASO
4. Listening skill

Question Number : 88 Question Id : 5244763788 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

There are trait dimensions did Cattell propose?
s TO DT A0 8 £ Fereden o) oN?
Options :
1.2

| % i



I
td

2.
3 % 3‘16
Lx 4117

Question Number : 89 Question Id : 5244763789 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ajanta and Ellora are
92308 aO AW cl)ff’j o°

Options :
1. Caves
L hdrew

2. Movements
- 0§77

3. Gates
new

4. None of the these

Lx S A B



Question Number : 90 Question Id : 5244763790 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Natya — Shastra the main source of India’s classical dances was written by
23 SBTH T RO ST (DT 0TI TS - TR
el lelni(e

Options :
1. Naramuni
Lx 8

2. Bharat Mun1

- 2586% S0
3. Abhinav Muni
- €92)383 30

4. Tandu Muni
s €500 ANV

Question Number : 91 Question Id : 5244763791 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



In social case work interview 1s an important.
33°288 NS QOEIET £5 SN

Options :
1. Tool
% OO

2. Method

3. Technique
rOSedEeh

3, %
4. All the above

4 E}éﬁ(‘b;&

Question Number : 92 Question Id : 5244763792 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Social investigation is a process
2228 DB S (BA
Options :

1. Physical process

Lv P8 (OBAD



2. Psychological process
TS (80D

3. Psycho — social process
8 - 307238 (D180

4. None of the above

2a3a) 52D

4. %

Question Number : 93 Question Id : 5244763793 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Leaders in groups does Not depend on?
DTS T ODHEIEN 2 B ONCHE?

Options :
1. Authoritarian Approach
L OO DT0
2. Distribution of responsibility
2375565 HONED

3. Rapport with individual members

35586565 HENFOS Hed YOOTEN
3. %



4. Understanding group dynamics.

{97 BedaDS IR €900 TNE IS0

Question Number : 94 Question Id : 5244763794 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following helped group work rooted in social work profession?
806 B’ DS AFSTRE DA DB BTN DT HDE
DPANO DED?
Options :
1. Kurt Lewin
55 BDS

2. H.B. Trecker
s o 0.2 18780

3. Murry G.Ross
3018 2.0°0

4. G.Hamilton
23. BN



Question Number : 95 Question Id : 5244763795 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Total number of districts in Andhra Pradesh
SOIAINDT D BB 2207 HoWs?

Options :
1. 10

1. ®

4.17

Question Number : 96 Question Id : 5244763796 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which district. the Tirumale Venkateswara Temple is located?
330500 FOETIS L5 TaFrOGNO o) BETS S0E?
Options :
1. Tirupati district

e3CDDES 2207
1.v -



-2

. Krishna district
So 23

. Kurnool district

Sy e 225

Ld

4. Vijianagaram district

2D230DAB0 23"

Question Number : 97 Question Id : 5244763797 Display Question Number
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is largest dam in Andhra Pradesh?
SOISINDTS €06 X 3588 NA?

Options :
1. Sriram Sagar Dam

BO°D FNHO T

2. Srisailam Dam
3300 e85%E)

: Yes Is Question Mandatory : No Calculator : None Response



3. Nagarjuna Sagar Dam

. DTS IO e
3
4. Somasila Dam
} B €858
4.

Question Number : 98 Question Id : 5244763798 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Chief of the Election Commission is appointed by the

D) E D00 WD QO
Options :
1. Central Government
. 30|85 125065 cO
1.
2. State Government
} o7 2923065 0
2.

3. Chief Justice of India
257065 | DT D500



4. President of India

28ed Tl ded
4. ®

Question Number : 99 Question Id : 5244763799 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

was the first women Chief Election Commissioner of India.

25503853 BNCES 0 F™ (DTS ) E© EaAID.

Options :
1. Pratibha Dewv1 Patil
- 1932 Do) ¢3S

2. Meira Kumar

. 0" $0535°D
3. Rama Devi
4. Nirmala Sitaramann.
L QBT DEFTNDQ

Question Number : 100 Question Id : 5244763800 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A government is expected to base its policies on the line taken by the
1092368 0 ) DTN 0°$0° S305089) B TSN G
EOLNOA 27T 0.
Options :
1. Opposition parties
(203057

2. Ruling party

L v 0TS >0
3. President
3, % @65“@@

4. Parliament
OO0



